n
el

5.2 6raphing Proportional Relationships (Extension)

"?-."r'aph 'rhe values fr'om ’rhe ratio table.

T
g
: (meters) ol g
. g
v 6
4 E
- £ .
9 | 6 '% 3 _ g
] XL 5 (ala') ._j ﬂL
12 | 3 |
| 1 =1
) N 0 12 3456 7 8 910111213%
rate of change = X Time (seconds)
-zl 4820672
>, b T 9
Z = % z /

We can see that this ratio table has a constant rate of change (this is why the
graph is a line).

*The graph of EVERY proportional relationship makes a LINE that passes
through the origin (O, O) -
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What if we continued the table?




- 6raph to decide whether x and y are in a proportional relationship.

| 4 | 6 Ex: [ x
"8 | 10 TL;
‘ 2 | 4 |
3|6

10

Gl

LT

HRNE

am
-

“ N W & " OO N ®

L NS
HE

X
2 3 4 5 6 7 8 9 10 11 12 13 14 15

=!0—?‘6-3‘°
Z "4 =
3#9—%%

(a) Interpret each plotted point on the graph.

(b) Is the relationship proportional?
(c) If itis proportional, what is the unit rate?
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